SHE6ETEAN J9d NwIdd =

adepns 9'ts 9ISem 9 9| € € v'9 4 wnipsiy JA A 0906
L10T/€0/vT | 99°L | 6T'S | €0PT pinbi spoog uodeag ey/sulyg 0 0s | 0s

aJepns 9°zS ajsem TIS TIS| € -C L9 4 wnipsiN 274" 99v6
L107/€0/€T | 99'Z | 6T'S | €O'VT pinbr] spoog uoseag ey suipz | 0T | O | OL

jejns i . i 9'ts d1sem as as| ¢ 0 6'S 4 wnipsiy 6T'C 5980
£102/€0/2T | 99°L | 6T'S | €0pT pInbr] Spo04 UODESg BY/SUIPT 09z | ozt | oL

aJeqins 9'Cts 9lsem TIS TIS| ¢ T 9 4 wnipsiy £9C 89¢€¢C
L10Z/€0/TT | 992 | 6T'S [ €0¥T pinbry spooy uoseag ey/suypz | OFF | O | OL

aJepns 9'7S 21sem TIS TS| ¢ T S'S 4 wnipsiy 89°C 0LYY|
LT0Z/€0/0T | 9972 | 6T'S | €OWT pinbry spoo4 uoseag ey/suipz 0Tt | 0L oL

deuns 9'Cts dlsem TIS TIS| ¢ T S'S C wnipsiy 86'T 8LVE
L10T/€0/6T | 992 | 6T'S | €O¥T pinbr] spoo4 uoseag ey/supz | OTT | OZ | oz

2oepns 9'Ts a1sem 9 9| € -C €9 4 WwnipsN|  6T°E 86t
LTOZ/€0/8T | 99'L | 6T'S | €OV pinbr] spoo4 uodeag ey/sulpz 0 0 | os

ajeuns 9'¢s disem 9 M T -C €9 4 WNIpSN| 20 S8LL
LT02/€0/L1 | 99°L | 6T'S | €OPT pinbr spoo4 uodeag ey/suipz 0 | ot | os

aJepns 9'Cs dlsem Z9 4] 4 +C v'9 C WnIps|  ZT°C 5666
LT0Z/€0/9T | 992 | 6T'S | €OVT pinbr spoo4 uoseag ey/surpz 0 0 | os

depns . ] . 9'ts lsem 75 9| € 4 9 [4 WwnipsiNf  98°C 8016
LTOT/€0/ST | 99°L | 6T'S | €O'PT pinbr spoo4 UoIe3g BY/SUIYT 0 | oz | os

2jeuns . ] ) 98 o15em z9 9| t +C 9’9 [4 wnipaiN 879 STST
L10T/€0/%T | 99°2 | 6T'S | €0'VT pinbr) spooq uoseag ey/sigz | © | O | 0S

20epns A d N A d N L1027 | 9102 | 3K Hd| SNS

PO ieg (s1qepene) N | suonesiddy Jasiiad )¢ ainuepy
uonenjddy |(ey/3y) spinoad i | 18301 {ey/3y) pasinbay | @aeq umos| Buiddosy smejs |10s adA] 10| (ey) easy awen pjal4

LT0Z SNOLLIAQV 31SYM

159

- b T

ol



